
2 PEOPLE
REQUIRED 

FOR 
ASSEMBLY

INCLUDED HARDWAREBOUTIQUE LINE - 4 WAY
Item # BQ4W

8X
1/4"-20 x 0.5" LONG
BINDING POST SCREW

4X
1/4"-20 x 2" LONG
BINDING POST SCREW

1X
ALLEN KEY

12X
1/4" LOCK WASHER

12X
1/4" FLAT WASHER

4X
5/16-18" x 1" LONG
NYLON LEVELER

Item # BQ4W
SHEET 1 OF 2

Item # BQ4W



LEVELER

1/4-20 X 1/2" LONG
BINDING POST SCREW

1/4 LOCK WASHER

1/4 FLAT WASHER

LEVELER

1/4 FLAT WASHER

1/4 LOCK WASHER

1/4-20 X 1/2" LONG
BINDING POST SCREW

1/4 FLAT WASHER

1/4 LOCK WASHER

1/4-20 X 2" LONG
BINDING POST SCREW

1

2

3

4

Item # BQ4W
SHEET 2 OF 2

Item # BQ4W


	Title
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7

	Sheet1
	Drawing View8
	Detail View K (1 : 4)
	Drawing View10
	Detail View L (1 : 4)
	Drawing View12
	Detail View M (1 : 4)
	Drawing View14
	Detail View N (1 : 4)


